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JEE MATHS RELATIONS AND FUNCTIONS

If 2f (x%) + 3f (ﬁ:l = x? =1 forall x @ R — {0, then f(x*}is

a) (L=x*)(2x* +8) b) (1 -+x*)(2x* —8) c) (1 —x?}2x* -8} d) None of these
Bx# Bx4 Bx4

The domain of definition of the function f(x)m *=¥p, _., is
a) [8,7] b) £8,4,5,6,7) c) £8,4,5) d) None of these
Let f(x} m x and g{x} = |x| for all x & R. Then, the function §(x} satisfying

{plx) = FQx))* + {plx) — g(x)}* m 0, i
a) p(x) = x,x € [0, )

b) plx}mx,x €eR

) p(x) m =x,x € (=, 0]

d) plx)mx+|xlLx €R

The value of the function f(x) = § EIII( KE - x*) lies in the interval

a) [=-7/4,m/4] b) [0,8/vZ] c) (=3,8) d) None of these

The period of the function f{x} = |ginx|+ |cogx|is
a) b) Tf2 ) ag d) None of these
If f(x) = (@x? + B)?, then the function g such that f{g(x}} - g{f‘(x)} is given by
) 142 23 1/3
a) e b= x2® b) a(x _; o) N 3 ya  d) o x*¢ =P
g(x) ( = glx) TTETIL glx) = (ax® + b} glx) -
Let R be the real line. Consider the following subsets of the plane B X R
Swmf(x,vhiymx+lande~ x = 2}
T = {{x,y}:x = ¥ is an integer}
Which of the following is true?
a) Tisan equivalent relation on R but S is not b) Neither S nor Tis an equivalence relation on R
¢) Both S and T are equivalence relations on R d) sisan equivalence relations on R and T is not
Let 4 m [=1,1] and f: 4 = 4 be defined as f(x)} = x|x| for all x & 4, then f(x}is
a) Many-one into function b) One-one into function
¢) Many-one onto function d) One-one onto function

1) m 22, x 0,1 and & = £(Fx)) + £ (£ (2], then

o

) g >3 b) g -2 ) el >2 d) g w2
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Let R and § be two non-void relations on a set4. Which of the following statements is false?

2) Rands are transitive implies K 1 & is transitive.
b) Rands are transitive implies R U & is transitive.

¢) Rands are symmetric implies K U § is symmetric.

d) Rands are reflexive implies K 1 § is reflexive.

A= {1,284} B{1,2 8 4,5, 6lare two sets, and functionf: 4 = F is defined by f(x) = x -+ 2 ¥x € 4, then the
function f is

a) Bijective b) Onto c) One-one d) Many-one

Let f(x) = x -+ 1 and ¢(x) = x — 2, Then the values of x satisfying |f(x) + ¢(x)| = |f(x}]| + |$(x}] are:

Y -] ®) [2,69) ) (=w,-2] D [1,)
The domain of the function f(x) m i:';liﬁl :';E; .
a) [Er‘}] b) |:2|_ 3.} ) |:3.r 4] C) ler} d) (—Qf-", _3} u la, W}

If f{x)m :__.E"E then, domain of f{x} is

a) (=o2, 0) b) (=ce, 2} c) (=o2, o) d) None of the above
The domain of definition of
F(x) m logyo{(logyox)® — Blogaex -+ 6}, is
a) (0,10%) b) (102,c0) ) (10%,10%) ) (0,10%) u (10%,w)
If a function f(x) satisfies the condition
1 1
f (x + E) - xd el 0.then f(x) equals
a) x3 _2forall x = 0
b) y2 _ 2 forall x satisfying |x] = 2
) x2 -2 forall x satisfying |x| = 2

d) None of these

The period of the function f{x} = gin (2.:_-1«&) .18
e

a) 2 b) 6 ) 62 d) None of these

FiR = Ris afunction defined by f(x}= 10x = 7.If g m f=2, then g(x)} =

a1 by__1 QX7 dx=7

10x -7 10x+7 10 10
If f(x)} = [x = 2], where [x] denotes the greatest integer less than or equal to x, then f(2,5} is equal to
a) 1 b) 0 01 d) Does not exist

2

The domain of definition of
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FCx)m flogollogsg ) — log.0(4 —logsp X} — 10g4q 8. is

3) (10%,104) b) [10%, 104] ) [10%,104) d) (10%,104]
The value of & Z (the set of integers) for which the function fx) m sInERL% has 4 1 as its period is
srdnE—:l_ij
a) 2 b) 3 ¢ 5 d) 4
The inverse of the function f:R = R given by f(x) m log.{x +vx% +1)(a > 0,a = 1},is
—F d) Not defined

a)& - b)l - C)l ¢’ +a )

2(&:"‘-&&: ); (ﬂr’F a=v} AT
The domain of definition of the function

. l+2(x+4m0r - _ 08
Flx)m x Y (X 49 (x4}
a) p b) (=4, 4) c) g* ) (=4, 00 U (0,%)
If fix)m —,;r; m =1, for what value of & is f[f(x)}] = x?
2) 73 b) 3 A1 d) -1
The period of the function f(x} = cosec?8x + cot4x is
a) ¥ b) B o)X d)

3 ¢ 6
The domain of the definition of the function f(x)} m /T +Tog.(1 = x} is
) —waxE0 b) w0 5 g S0 ) -wsxsl Dyxz1-¢

The range of the function gin(sin=% x +cos~* x),|x| = 1 is

a) [-1,1] b) 1, -1] c) {0} d) {1}

The range of f(x)} = ¢cogx — ginx is

a) [-1,1] b) (-1,2) 0) _%%] d) [—yZ, V3]

The range of function f(x) m x2 4 — ﬁﬂ

a) [1,%) b) [2,5) 0) % ’ o::) d) None of these

If n is an integer, the domain of the function +sln 2x is

a) [rm - g,nﬁ] b) Imf, nw -+ %] <) [(2n - 1)w, 2nw] d) [2nw, (20 + 1)w]

Iff 1R = R is defined by f(x) = x = [x] = %for all x & R, where [x] denotes the greatest integer function,
then ]:x ER1 f(x)m %} is equal to

a) 7 b) c) b d p

Suppose f:[=2,2] = R is defined by

e [~lior=22x20 - & [=2 2T x Y
Foym (THOE=2E XS0 thon fx & [~2,2):x £ 0 and f(xl) = &} is equal to
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a) (-1 b) {0} 0) [_ %} d) &

If f1R = R is defined by f(x) = sinx and g:(1,9) = R is defined by g(x) = vx? — 1, then gof(x} is

a) ‘E_l} b) o — d) Not defined

yeln(x® - glnyxf—1 <) cosx
Let R and C denote the set of real numbers and complex numbers respectively. The function f: € = R defined

by f(z) = |z] is
a) One to one b) Onto

c) Bijective d) Neither one to one nor onto

If £(x) m == then f(2 x} is

Pl
a) fQEE)'i‘l b) 3FEEE}+1 0) fEJE}'f‘?r d) fEX}'f‘?r
Flx}+8 Flx}+ 8 Flx}+1 Bf(x)}+1
The range of the function f(x)} = tan ??- X% is
a) [0, 3] b) [0, v3] c) (=a2, %) d) None of these

The domain of the function f(x) = cogec=?[sinx] in [0, 2 &], where ['] denotes the greatest integer function, is
a) [o,w/2)u (w,3m/2) D) (m2m)uim/2) ) (0,m] U {3 m/2} 4 (m/f2,7) U (3w/2.2m)
Let R be the relation on the set R of all real numbers defined by @Rk if |@ = k| £ 1, then R is

a) Reflexive and symmetric b) Symmetric only

c) Transitive only d) Anti-symmetric only

The domain of the function f(x)} = log.(x = [x]} is

a) R b)p-z ) (0,+w) Dz

If f: [0, ] = [0, %] and f(x) m ﬁ, then f is

a) One-one and onto b) One-one but not onto

c) Onto but not one-one d) Neither one-one nor onto

The function f1R = R given by f(x) = x¥ = 1is

a) A one-one function b) An onto function

c) A bijection d) Neither one-one nor onto

Let [x] denote the greatest integer < x.If f(x) = [x] and g(x) = |x], then the value of f (‘g (E:I) -g (f' (— E:I)

]
is
a) 2 b) -2 91 d) -1
The domain of the function f(x) = % is

a) [-1,0) U {1} b) [-1, 1] o [-1,1) d) None of these




344. The set of values of x for which of the function f{x) m i-i- gein” w4 ﬁ.,% exists is
a) p b) g - £0} c) & d) None of these
345. If f(x) satisfies the relation 2f(x} + f(1 = x) = x? for all real x, then f(x} is
a) xi+2x =1 b)xi+2x =1 o xi+dx=1 d)yxi=8x+1
& 8 g &
346. If the function f(x) is defined by f(x)} m @ + kxand f™ = fff... (repeated r times), then f¥(x) is equal to
a) : b) _ o) _ d) =1 .
a+bx ar+ b'x ar + bx" o + b x
347. Y =2 }i
If f(x} — then f(2 x} is
a) Flx)+1 b)?rff;r'f}'f'l 0 flx)+8 d) flx)+%
flx)+3 flx)+38 flx}+1 $fx)+1
348. If f(x) is an odd periodic function with period 2, then f(4) equals
a) o b) 2 c) 4 d) -4
349. The domain of definition of
) =1 1
flay= [logos (;E'f-E-) *y—se'"
) (=e,0) = {=6} b) (0,5} = {1.6) ) (L) - {6} D [1,%) - {6)
350. The domain of the function f(x) m logg(logg (log, x))is
A (=e2.4) b) (4, ) (0.4 D (L,)
ANSWERS
301) a 302) ¢ 303) a 304) b
305) b 306) d 307) a 308) d
309) 310) b 311) 312) b
313) b 314) a 315) d 316) b
317) ¢ 318) ¢ 319) b 320) ¢
321) a 322) b 323) d 324) d
325) d 326) b 327) d 328) d
329) a 330) b 331) 332)
333) d 334) d 335) b 336) b
337) b 338) a 339) b 340) b
341) ¢ 342) d 343) a 344) ¢
345) b 346) d 347) b 348) a
349) 350) b
301 (a)

Given, 2f(x%)+ 8f (%} mxi-1 ()
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303

304

i

Replacing x by ~ we get
i '2 - i — i1
af (ﬁ)'f- 8f(x%) =1 ..(i)
On multiplying Eq. (i) by 2, Eq. (ii) by 3 and subtracting Eq. (i) from Eq. (ii), we get

Bf(x%) m ;f_ﬁ_ 1—2x*
1
- fﬁx“}-ﬁ(?r—x“—z:f"‘)

- flx%) m ;'? (8 —x%—=2x%)  [Replacing x by x]

(1=x%)(2x* +3)
- Bx#4

()

The function f(x)} = 7=¥P__. is defined only if x is an integer satisfying the following inequalities:
(D7=x=0(lx=-8 =20 (l}7f—x=x-38
Now,
T=xz20mxz7 }
x-%z0wmxz? m3z2x=h
F—xzx—-3mwxzhb
Hence, the required domain is {8, 4, 5}

(a)

We have,

Flx)m x,g(x) = |x|forall x € R and ¢ (x) satisfies the relation
[$Cx) = Fx)] + [$Cx) — g(x)]* = 0

= ¢(x} = f(x} = Oand ¢(x} — g(x} = 0

= ¢(x) = f(x)and ¢(x} = g(x}

= f(x) = glx) = ¢(x)

But, f(x) = g(x) = x,forall x = ¢ [+ |x| = x forall x = 0]

& @lx)m xforall x € [0,@)

(b)
We observe that f(x} = &111( gE - xi‘) exists for
2

X' z0m—mgxge
16 4 4
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- =
The least value of z—ﬁ —x%is0forx m & ;1 and the greatest value is Z—ﬁ for x = (¢, Therefore, the greatest

value of f(x)} occurs at x = ¢ and the least value occurs at x m £ /4

Thus, greatest and least values of f{x} are

&

i3 T % )
F(O)m Sein i 3&111; - ﬁand,f'(z:l =3en0 =m0

Hence, the value of f(x} lie in the interval [0, 3 /2]

ALITER For x & [=m/4,7/4] = Dem (), we find that !I—:— x? & [0, /4]

Since &lnx is an increasing function on [¢, 7 /4]

{ni‘

, : -

« 8lnx £ ein T x* = elnm/4

w 0= Sein il X2 = Bw(}ﬂf(x}ﬂ :
16 V2 V2

(b)

f‘(%-f- x} - |&111(§+ x}l-h |cc-& (%-h x}ll
= [cog x|+ | sinx |forall x.

Hence, f(x} is periodic with period E

(d)

.:PL‘FE--b 1/2
&)

¢
It can be easily checked that g(x) = {: :I satisfies the relation fog (x) = gof (x)

(a)

Since, (1,2} € Sbut (2, 1) € &

- §is not symmetric.

Hence, 5 is not an equivalent relation.

Given, T = {(x,vh(x—17v)¢€l}

Now, xTx = x — x m Q & [, itis reflexive relation
Again, xTy w (x =y} € |

w v =X & ] m yTxit is symmetric relation.

Let xT'y and yTz

Ax—Yywmliand y—z = [;




Now, x =z m (x =y} (y=z)m[,+I; &)

wE=-rE]
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Since, =1 = x = 1, therefore=1 = f(x)} = 1

~ Function is one-one onto.

309 (©)
We have,
fEx}-E
L—gy, l-3—2
- 1) =1 () - —HER =
X
Again,
fEx}-%
1 l-l. x=1
X%




o f(F(x))+ f(f &)) - s

X
1
w || = |x+—_|a 2
X
310 (b)

Let 4 = {1,2,8}
Let two transitive relations on the set A are
Rw={(1,1),(1,2)}

And § = {(2,2),(2,8)}
Now, R U § = {(1,1},(1,2},(2,2).(2 %)}
Here, (1,2),(2,83) e RUS = (1,3} @R US
A K U §is not transitive.

311 (©)
f(l)m8, f(2) m4[(3)mB f(4)m6
w 1 & 5,2 & B donot have any pre-image in 4
= f is one-one and into

312 (b)

We observe that
IFCx) -+ lx)| m |[Fx}] + |p(x}|is true, if
F(x) = 0and (x)} =0
OR
Flx) = Qand ¢(x} = 0
w (x> =1andx > 2)or(x = =landx < 2)
w X & (2,9) U (=oe, =1}
313 (b)

sin=3(3 = x)

log.(|x| -2}

gin~%(3 = x) is defined for all x satisfying
—lgf=x2lm=4d¢g=-x2=-2wxE[2.4]
log.(|x| = 2) is defined for all x satisfying

x| =22 0m x € (=, =2} U (2,%)

Also, log.(|x]|=2) = 0 when |x| =2 = Llie, x = +3
Hence, domain of f = (2,8} U (3, 4]

We have, f(x) =




314 (a)

fx)is defined

When |x| = x

- I==XX>X

w 2x < 0,(x > x is not possible)

m xa0

Hence domain of f(x}is {=ee, 0).
315 (d)

We have,

F(x) = logyof(logsox)® — B(logypx) -+ 6]

Clearly, f(x} assumes real values, if

(logsex)* —Blogsox+6 > Qandx » 0

w (0% = 2)(l0gse=3) > Qandx > ¢

w (logpx = 2orlogpx > Slandx > 0

w (x = 10%r,x > 10%)and x > Q= x € (0,109} U (10%, w0}
316 (b)

We have,
!

f(x+%)-x*+%-(;ﬁ+%) -2
nf(y}-y*—z,wherey-xqmi
Now,
x> 0mymytizaandzcOmymatling -2
Thus, £{y) = 2 — 2 for all y satisfying || = 2

317 (©)

Since 8l x is a periodic function with period 2% and

) 2x + % X 1
Flx)m alnf: - )- aixl(ﬁ-f-ﬁ)

# F(x) is periodic with period m —2- m &2
13w

318 ©
Let f(x} = 3, Then,

¥
10

¥+ 7
lGx—?-y-rx-"T-pf"-(y)-

Hence, f=2(x) m %:
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(b)
n F(25) m[2.5—2] = [0.5]m0

(c)
We have,
Fex)m ylogao(logee x) — logo(4 —log e x) — logy, 8

Clearly, f(x} assumes real values, if
10810(10g30%} — 10849(4 — l0g10X) — 10§03 =2 0
10g30%
- 105"0{3(4 - lﬁgmx}}
l0gp X

B(4=logyex)

4loggox — 12

B4 —logyx)

logsgx =3

logggx — 4
w3 Elog ok~ 4= 10 2x < 10° = x € [109,10%)
Hence, domain of f = [10%, 104}

(@)

z 0

We observe that the periods of glinx and Eillf are ﬁand 2|n|n respectively
i3

Therefore, f(x) is periodic with period 2|n|®
But, f(x} has period 4 &
s2nlrmd g |n|m 2wy -t

(b)

It can be easily checked that f:R = R given by f(x) = log.(x + VX2 -+ 1) is a bijection
Now, F{f=4(x)) = x

-2 TF=Lfeig o 1 .
= 108 (F2(0) + VI + 1) m &

w [=2(x) + T T (k)2 -+ L= g¥ (D)

1

- F2x) + TS + 1
w =2 (x) TR L ma™® (i)

Subtracting (ii) from (i), we get

- g

2F~(x) m g¥ — g™

- F1x) m 3 (0" = a™7)




323 (d)
We have,

2
L+
fx)m x—‘-}%‘h VET I+ 4T T a
w

Clearly, f(x} is defined for x ++ 4 ™ Gand x m ¢
So, Domain of f{x)is (=4, 0} U (@,

324 (d)
Flre)=F(==)
@
(—:I adx
gx+x+1
T+ Tl
g ) .
m- x [glven]
- g mgx-x+1

w gl —lwm(g+1)x

wm (gl g=1=x)m=0

- E+lmQ w» gm=] [#a=1=—xm0]
325 (d)

Fix)m cosec?Bx + cot4x

Period of coggpe3x is % and ¢ot4xis i

= Period of f(x} = LCM of{ and- }

LCM of (mr, ) ) .
HCP of (3,4) 1

326 (b)

Given, f(x) m 1 -+ log.(1—x}

For domain, {1 = x) = Q¢ and log (1 —x} = -1
w xwlandl-xze™?

- x=landx = 1—§

g=1
- —Wﬁ;xﬂT




327 (d)
w
=1y =1 %) m - -
gin(sin~*x +cos™% x) &111(3) 1
- Range of gin(gin™% x +coe~2 x}is 1.
328 (d)

Given, f(x) = cogx — slnx

- \-‘E(‘%EQ&X - ‘%EIIUE)

- Zmaig-bx)

Since, -l £ (08X =1 w —1% u:oa(f-bx}ﬂ 1

- =2z {Eeo&@-ﬁ x)ﬂ ¥2

-~ Range is [=v2, V2]

329 (a)
. R S |
Given, f(x} = x =
x2
- <& - —
a%+1) (x“-r-l)
- -2 -_— a
l+x (:l x2+1)EL¥xER

Hence, range of f(x}is [1,%}.
330 (b)
Letymysin2xw 0 = sln2x = 1,

i
- 052.):52

T
- F —
05&54

= X E Imf, nw -+ E]
4
331 (©)

We have, f(x) m x = [x] = é
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334

335

336

PG m g m

But, foranyx € R, 0= x=[x] < 1
swXx=[x] = lforanyx € R

Hence, {:x ER1f(x)m %} -

(9

Since, x € [-2,2], x= 0 and f(|x]}m=x
For —2=Zx=z0

fl=x}mx m £(=x)=1lmx = x-—%

(d)

Given, f(x)= ginx

And g(x)mVxT—1

~ Range of f m [=1,1] € domain of g = (1, %}

+ gefis not defined.

(d)

Given, f: € = R such that f(z) = |z]

We know modulus of z and Z have same values, so (£} has many one.

Also, |z| is always non-negative real numbers, so it is not onto function.

(b)
We have,
. k=1
fla)= X+1
folel _ 2a . o
- flgl=2 =2 [Applying componendo-dividendo]
flx)+1
- Yo
1-f(x)
2[ X +l}_ n
v Fax)y etz U 5 f(x)+ 1
(b)

Given, f(x) = tan K%- x?
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338

339

For f(x) to be defined %z -x*z0

- x*ﬂﬁg-p ﬁﬂif-ﬂﬁ
9 3 5

=~ Domain of f = l' E;S]

The greatest value of f(x)} = tan %ﬁ -0, whenx m ¢

And the least value of f(x)} = tan %ﬁ - %ﬁ. when x = E

= The greatest value of f(x)} = '3 and the least value of f(x} = 0

- Range of f = [0, ]

(b)
We have,
0,0=x < wf2
Lxwmm/2
[Binx]mi omf2<xsw
=l HmE= 2N
0,xwmm2®

And, cosee~2x is defined for x € (=ee, =] U [1, «}
o F(x) = cosec™*[sinx] is defined for x m Eand x € (w2}

Hence, domain of ¢ogee=*[sinx] is (&, 27) U {%}
(a)

agRaif |&¢ — a| = O = 1, which is true.

NEET/ JEE MCQS PDF SALES
ENGLISH | jeg maThs || [BL Sl

= Itis reflexive.

Now, aRb, MEDIUM MAIN & Bigwio
Gmble1m boglst PHYSICS | ADVANCE | @umLilwsev
CHEMISTRY | cosT || % o
BIOLOGY
= aRb = bRa JoLoGy | RS.1000 ] *370004
- Itis symmetric. MCQS NEET 10 MCQS

COST
) Rggggo . RS.1500

WHATSAPP - 8056206308

Given

Flx) = loge(x = [x])} = log.{x}

When x is an integer, then the function is not defined.




~- Domain of the function K = Z.
340 (b)
Here, f: [0, %] = [0, }fe, domain is [(,e} and codomain is [0, e},

For one-one f(x) m m

- fl(x) m—=m0,¥x € [0,c)

1
(1+x)*
& f(x}is increasing in its domain. Thus, f{x} is one-one in its domain.

For onto (we find range)

X
- e T o X
lt+x * °

f'ix)- Tr iy
ﬁx-&ﬁﬁEGaSﬁiEGhGE}'ﬁl

e, Range # Codomain

+ f(x}is one-one but not onto.
341 (©)

Given, f(x)m x¥ -1

Let Xq:%g & R

Now, f(xy) = f(xs)
w xi=lmxi-l
w  ximxd
- Xy m X

# f(x}is one-one. Also, it is onto as range of f m R

Hence, it is a bijection.
342 (d)

Given f(x)wm [x] and g(x) = |x]
Now. £(9(§)) =1 ()= []=+
And g( t: ) [—g] = g(=2)m2
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cos~x
[x]

For f(x} to be defined =1 = x = 1 and [x] = O = x & [0, 1}

v f(x)m

=~ Domain of f(x}is [=1,0) U {1}.

(©

Let f(x)m g(x) -+ h(x) -+ u(x)}, where
§0x) m &, R(x) m 29077 and u(x) = 2=

The domain of g{x} is the set of all real numbers other than zero i.e. R = {0}

The domain of &(x)} is the set [=1, 1] and the domain of #(x} is the set of all reals greater than 2, i.e,,
(2.%)

Therefore, domain of f(x) m B = {0} N[=1,1] M(2,%) = ¢

(b)
Given, 2f(x} -+ (1 —x) = x? (1)
Replacing x by (1 = x}, we get
2f (1 —x} -+ fx) = (1—x)*
- 2f(L=x)+ flx)m L+xf=2x ..(i)

On multiplying Eq. (i) by 2 and subtracting from Eq. (ii), we get

Bf'ix?-x%zx—l-pfl:x}-HTx'l
(d)
Flx)m a-+bx

o FIF(x)}m g+ bla -+ bx) = q(l-+b)b%x
w  FIFF(x)E] = fla(l +B) -+ bPx} m a(l + b -+ b3) -+ b¥x

. FrCx) m @(Ll =B 5% 4 o p=2) 4 bx

b =1 .
-ﬂt(&_l)-ﬁhx

(b)
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We have,

x=1

fﬁr’f)-m

Flx}+1 2x
a1 -2

- flx)+ 1
TER T

2 f‘(zx}-zx_l_ 2[%}_1_3f(x}+1
2x+1 2(%)+1 Fx) + 8

(a)

Since, f(=x) m =f(x} and f(x-+2) = f(x}

a fx)m f(0)and f(~2) = (-2 +2) = f(0)
Now, f(Q)}m f(=2) m —f(2) = —f(0}

= 2f(0}m0 = F(0)m0

a fl4) m f(2) mF(0) m O

(9

2 is not defined for XwmE§

We observe that
=

Also, (logg.q {:%::I is a real number, if

=1

0ﬁx++5£l
-wﬁ;i;éandiléﬂl

w (x=1)}x-+B) > 0and l-ﬂiﬁﬂ 1
a(xﬁ—ﬁerx%l}axld—%ﬂo

wm(x<=borx>1llandx+5=0
wm(x<=Bborx>1llandx » -b
Hence, domain of f(x)} m (1, e} — {6}
(b)

Given, f(x) = logs(logs(log,x))}

We know, log, x is defined, if x = 0




For f(x) to be defined.

logglogeax > 0, logax »Qandx > 0

w logux >3 mLx>4% = landx > 0
w x>4x™>landx > @

- x=4




